
 

                                                 FIRST PERIODIC TEST-2019-20 

                                                              CLASS-    XI 

                  SUBJECT-ECONOMICS 

TIME- 90 min.        F.M.-50 

General Instructions:- 

A. All questions in both the sections are compulsory. 

B. Marks for each question are indicated in the right hand side margin. 

C. Question Nos. 1-3 and 9-11 are MCQs/very short answer type questions carrying 1 

mark each to be answered within a sentence. 

D. Question Nos.4-5 and 12-13 are short answer type questions carrying 3 marks each. 

 Answer to them should not normally exceed 60 words each. 

E. Question Nos.6 and  14 are also short answer type questions carrying 4 marks each. 

Answer to them  should not normally exceed 70 words each. 

F. Question Nos. 7-8 and  15-16 are also short answer type questions carrying 6 marks 

each. Answer to them  should not normally exceed 100 words each. 

 

SECTION-A 

1. Define statistics in plural sense.   1   

बहुवचन के रूप में साांखिकीय को परिभाषित किे ?                                                                                     

2. Which is the final stage of statistical study-  1    

साांखिकीय अध्ययन का अांततम चिण क्या है ?                                                                  

        a)  Presentation प्रस्तुतीकिण    b) Interpretation  व्याख्या 

              c) Analysis    षवशलेिण     d) Classification वर्गीकिण  

3. Which Statistical device is known as ‘Economic Barometer’? 1 

ककस साांखिकीय साधन को ‘आर्थिक बैिोमीटि ‘कहा जाता है ? 

4. What should be the qualities of a good questionnaire? 3  



एक अच्छी प्रश्नावली के क्या र्गणु होने चाहहये?                                        

5. Differentiate between Primary Data and Secondary Data ? 3 

प्राथममक औि द्षवततक आकडो मे अांति बताये ?     

                                                 OR अथवा  

           Differentiate between Exclusive series and Inclusive series 

            अपवजी औि समावेशी श्रांिला मे अांति बताये? 

            6.       Prepare discrete series from the following data.4      

                                 तनम्नमलखित आकँडोँ से िांडडत शे्णी बनाइये  

                                   15, 15, 18, 16, 20, 21, 25, 25, 15, 16, 18, 22, 24, 25, 20, 18, 22,  

                                 24, 24, 25, 25, 23, 20,   15, 16, 17, 19, 18, 22, 22. 

 

           7.     Draw a pie- chart from the following data: 6     

    

 

Types of 

Questions 

Remembering understanding application HOTs Evaluation 

Marks scored by a 

student 

20 30 25 15 10 

 

 

8.  Write the limitations of statistics?   6 

   साांखिकीय की सीमाए बताये ? 

                                              SECTION-B 

9.Define  the word Economics ? 

  अथिशास्र को परिभाषित किे ? 

    10.  Total utility is…………. 1 

     कुल उपयोर्र्गता है :           

            (a)  The sum of marginal utilities सीमाांत उपयोर्र्गता का योर्ग 

            (b)  Utility from first unit ,X number of unit consumed 

 पहली इकाई की उपयोर्र्गता,X इकाइयो के उपभोर्ग ककये जाने पि  
(c)  Always increasingहमेशा बढ़ती हुई 



                   (d)     Utility from last unit ,X number of units consumed 

अांततम इकाई की उपयोर्र्गता ,X इकाइयो के उपभोर्ग पि 
      11.    Economic problem arises because of :1  

           आर्थिक समस्या उत्पन्न होती है क्योंकक ' 
 

            (a)Unlimited wants  असीममत आवश्कता         (b) Limited Resources  मसममत साधन  

            (c)Both (a) &(b) दोनों (अ  ) व (ब )        (d)Neither (a) nor (b) दोनों (अ ) व (ब ) 
 

            12.  Explain the problem of “for whom to   produce”? 3     

     “ककसके मलए उत्पादन” की समस्या का वणिन किो | 
 13. What is the law of’ Diminishing marginal utility’? Explain with the help  
     Of diagram?  3 
     सीमान्त उपयोर्र्गता ह्रास तनयम क्या है ? 
 14. Write the properties of Indifference curve? 4 
     उदiसीनता वक्र की षवशेिता बताये ? 
 15. What is production possibility curve? Explain it with the help of  
     Diagram ? 3+3=6 
      उत्पादन सांभवना वक्र क्या है ? र्चर की सहायता से समझाए ? 

     16.    A consumer consume only two goods X and Y whose prices are   Rs2   & 

Rs 1 per unit. If the consumer chooses the combination of two goods with 

Marginal utility of X being 4 and that of Y being 4, is the consumer in equilibrium? 

Give reasons. Explain What will be a rational consumer do in this situation? Use 

Marginal Utility analysis. 6 

      एक उपभोक्ता केवल दो वस्तुय x औि y का उपभोर्ग किता  

      है जजसकी कीमत रुपये 2 औि 1 प्रतत इकाई है | यहद उपभोक्ता दो 
वस्तुवो के सांयोर्ग को चुनता है जजसकी सीमान्त उपयोर्र्गता x की 4 औि y की 4 

है | क्या उपभोक्ता सांतुलन मे है ? कािण बताये ?एक षववेकशील उपभोक्ता 



 इस जस्थतत मे क्या किेर्गा ? सीमन उपयोर्र्गता षवशलेिण षवर्ध लर्गाये ? 

 


